\LVEC |

INC.

£
0
4
2
£
c
0
>
0
o
3
3
3

(U]
o
=
b=
9]
<<
=
=
"
=
b=
=
<
>
<
v
>
s}

-
=
>
..m
>
&
L
:

A
B

5/16 Flat Washers Large (USS)

3/16 x 1 x 1 Round Clip

2=5/16 X2 1/2 Bolts

2=15/16 X 3 1/4 Bolts
4 =5/16 Lock Nuts

10
2
2

FG 114
Honda 4508

1/4 x 7/8 Galvanize Pipe Spacers




